Streetlamp-120W
#R 7120w www.starlight-led.com

¥ #® B Bill Of Materials

1 AT EFx1

Upper Housing of Street Light * 1
2, BITT7Ex1

Lower Housing of Street Light * 1
3. BT X1

Cover of Lower Housing * 1
4. BITITE x1

Arm of Street Light " 1
5 BIREEER <1

Board for Retaining Driver * 1
6. gR P&«

Upper Cover of Cable Case * 1
X ZETHEx1

Waterproof Ring of Cable Case * 1
8. BAZEIE ]

Waterproof Ring of Input Cable * 1
9 BHE T E <4

Waterproof Ring of Output Cable * 4
10, 1B4E FEx4

Upper Cover of Moulds * 4
i HAEE <4

Heatsink ™ 4
12 ER x4

Optic " 4
13 EREE x4

Waterproof Ring of Optic * 4
14, (AR RER x4

Aluminurmn Plate for Lumiled Chip * 4



Streetlamp-120W
#E 7120w www.starlight-led.com

1 #l 3= E Bill Of Materials

15, LD1204T#Fx1
Backbone of LD120 * 1
16. BT TaIE <1
Front Housing of LED Light ™ 1
17, EERBREEIE <4
Waterproof Ring for Power Cable of Aluminum * 4
18, EEREREENEER <4
Waterproof Gasket for Power Cable of Aluminum * 4
19, M4 x 1 64117 o 8822 x 9
M4*16 Mechanical Teeth Screw ™ 9
20, M4 x 10T tR 22 x 9
M4"10 Mechanical Teeth Screw " 9
23 MAt i a8 e CRIEE R x18
C Type Spring Pad of M4 Mechanical Teeth Screw * 16
22! MAHL I iR 22O HE x 18
O Type Pad of M4 Mechanical Teeth Screw * 16
23, MAHLE B4 ORI R B R E 8
O Type Paper Pad of M4 Mechanical Teeth Screw * 8
24, M6x 16BN FigE x12
ME*16 Mechanical Teeth Socket Head Screw " 12
25; M6x 12 AT 18 <2
ME*12 Mechanical Teeth Socket Head Screw * 2
26, M6t TR CRBER 10
C Type Spring Pad of M6 Mechanical Teeth Screw * 10
27 M6t T 0TI FE <14

O Type Pad of ME Mechanical Teeth Screw * 14



Streetlamp-120W
BET120wW www.starlight-led.com

# %l ¥ 2 Bill Of Materials

28, M6Hi T OB B M x4

O Type Antiskid Pad of M6 Mechanical Teeth Screw * 4
29, M6 F L0 R K H x4

O Type Paper Pad of M4 Mechanical Teeth Screw * 4
363 pAx15B R FiELE x4

4*15 Snap closure tapping * 4
31 M4t B x4

Mechanical Tooth Nut * 4
32, ©3x 11 FEL 8

3"11 Snap closure tapping " 8
33, (p3IxBEIMNFBL %80

38 Snap closure tapping * 80
34, (p3x3.5CLBERF L x40

3°3.5 C Head Snap closure tapping * 40
35, M8x 2 BH i F 842 x3

M8*28 Mechanical Teeth Screw * 3
36, MBHI R F B2 (BRI E #v x 3

C Type Spring Pad of M8 Mechanical Teeth Screw * 3
37 MBHI T B 22 OB H x 3

O Type Pad of M8 Mechanical Teeth Screw * 3
38, M8 x 217 FEHLI T RiE x2

Mg&*12 Mechanical Teeth Socket Head Screw * 2
39. MBHLF T 7~ R IER x5

M8 Mechanical Tooth Hexagonal Nut * 5

Page 3



Streetlamp-120W
Bg4T120Ww

B B & 7L (i Hole Sie of Assembling Driver Faas o

238
2136
210
164.6
0 0 0 0 0
| C |
04.5
q ¢ 0 OJ
¥ 178
m% A 138 )
0 0
0 0 D 0 0
0 0
0 0 0 0 0

BEEE  <45mm

Power Height:



Streetlamp-120W

BET120wW www.starlight-led.com
¢2 & 1 Aluminum Plate REER m
260
252
132
OO0 O 2.0 O°O

O O O 5
O 5O
cp5.;‘/
_/ a1 28 Ell 22 22 3] 28 a1
RFEEL2mm |
Sinking 1.2mm |
1.5
1ﬂ_,._£s_£h___£n._£a._‘__&_ﬁ__ﬁ_.&_,

DRBBREERE

Aluminum Plate for Lumiled LED Chip

260
252
132
$3.4
G

22 *2
_W0_10_ 9
.Ea
ey

(0] o)
050 |
_%y 31 28 31 44 31 28 3l
|
FFELZmm |
Stnkrnqﬂ 2mm | =
=T l =
CREEXTIREEBARE

Aluminum Plate for CREE LED Chip



Streetlamp-120W

BET120wW www.starlight-led.com
¥8 BE BE £+ Plastic Parls T2 mm
o T T
EATHT RIS i
Front Housing of Street Light &
298

145 92

;\ ’

%ﬂ_t% Upper Housing of Street Light

239.3

e

n

154 68

FaME  ASA

Product Materials

BXFER VO~V
Fireproofing Grade

IMAE EUEREH. KRS
| Surface Color: 3-NA, Iron Gray




Streetlamp-120W

2EAT120w www.starlight-led.com
¥8 B B ¥ Plastic Parts R on
=
BT J\-/|
Lower Housing of Street Light i
fllj J—l—l—ﬂ i, =
—
f 2
y s
o
&
4.; ss
¢ %

ﬁﬁﬂtﬁ Upper Cover of Modules

116

rEtiR  ASA

Product Materials

BKER VO~V1
Fireproofing Grade

SAMEE EBEDRE. KB

Surface Color: 8-NA, Iron Gray




Streetlamp-120W

4T 120w
#8 BT BD {4 Plastic Parts FESE o
2y S 12
Upper Housing Cover of Street Lightﬁ A e .
146

«-%J:E‘—_' Upper Cover of Cable Case Z
RE L= e — c= i =
142
133
67
)|
13\ I
{il 11 ][ N
. GEIOCOCOCOAND =
P AL ][ I 13
= P o

Waterproof Gasket for Power Cable of Aluminum Plate

AERBREZEHEER 0, 55

I

P3

] o

www.starlight-led.com

R ASA

Product Materials

BAFER VO~V1
Fireproofing Grade

SNEE EVFRE. HFRE
Surface Colar: 3-NA, Iron Gray

Page 8



Streetlamp-120W
#ET120w www.starlight-led.com

o

L ad
.

11

a7
15
16
45
73 M

L Eh

1]

=
i

B6E

oTd

] .

B4

70

67

Page 9



Streetlamp-120W
Bg4T120W

R &8 [E End Product Picture FREEM om
F FREBEESB00gt5% FEXERE

Mote: net weight 5800g+5% (without driver)

s

19

e T T, i

"
I




Streetlamp-120W
#RT120w www.starlight-led.com

Installation Instruction in Production Line

ﬁ %1% FH iﬁ. HH # INSTALLATION INSTRUCTIONS
( » ERERERNIENAAR KL %

R AR S MR- o
K all deriw in ihe sioe i.'l:llnn"":\-\/-\""'\-q_\_‘_

B A (COMPAT IBLE WODEL ND ) : LDBO/LDSO-LDV20/LDMS0/LD180/L0220




Streetlamp-120W
B&4T120W

P ifldE Packing info

www.starlight-led.com

Details {41495

1> Quantity 1pcs streetlamp/Carton
o I

2> Gross weight 9.8kg+5%
EH

3> Dimension 76.5cm*39cm*27.5cm

(RN

o

Page 12



Streetlamp-120W
#RT120w www.starlight-led.com

B i1 B Specification of Streetlamp 120W

Item No. SL-Streetlamp-120W CRI: >80%
Dimension L:693mm*W:315mm*H:204mm Power Factor >0.92
LED Brand Cree Bean Angle 130-150degree
Driver Brand Meanwell Input Voltage AC85-265V or AC277-300V
LED Qty 96pcs ACB85-265V include the AC110V or AC220V
Watts 120W Waterproof Level IP65
Color Temperature  Warm White 2700-3200k 9600Lum-10000Lum
Natural White 4000-4500k 10000Lum-11000Lum
Cool White  6000-6500k 10000Lum-12000Lum

6Y93mm

Page 13




Streetlamp-120W
B&4T120W

(52'; Lhe

WA 4 Testing Report No.1

[TAQERRETAR:

nlaton ol gl
MHEERTY: dtomm

Foledimmniin i

BEREARTTAT

[ ———

qumﬁﬂ!ﬂ L
0 ETRERATENRS, THLE, BYAEEE

Sarhmosn o2 TEpced EceTafu and Bagy
il oty

WFTRBSHNE nostslsmighno

k

TRASTEN

A e

S il g

+6°

GREE® ®Enro
i

(T
[eeea

i

www.starlight-led.com

rE R AEHR K2 87.1¢ nfw
ne LD120-120W | MR 33 (ed) 6024 Bk A L (%) 0.2
TR (W) 120 RN (%) 100.0 BB (%) 57.8
WiEREak v 220 TREXHER (1n) 10474 nBAm k) 0.3
HiE AR (i) 10473.7 | MEEXTRALE (cv) | 30%.52.0° | nRIET (%) 41.6
TAPEEE(R) 1 LA (v 0.6 76° AFEER (n2) 0.00100
LR EREEE (V) 219.9 | FREXEH W 99.4 IMFER sL1 17.022
FoOErme BANEAREERASHER
cigo
T ce10 150
=150 150
-120 120 czo c120
i £l c270 o0

- C30/210,26.0°
30 _cetfzan, 03.1°

0 C80/210,90.07
0 EARERRITAT 8 WM (508 89T
szl hubg angih sach medilala d*
& (RRETEY
modsiobla fienig arglo 4" E]
gt and el cum
180 370
L0
150
140
130
120
[ 1] 11
L B | iy i
L1 T] P11
[ | 100
[ li. i1 1
2 5! 380 315 33 345 o0 | |
h T 1]5_ |%J 7]5_ a0
T . 8 80
¥ =
% PRV e S5
LY =
A | &0
g s0
a0
30
20
. E-3 70 ol o Beih

J

"“l"‘l
QR

Y
7 !i;\\‘

o
BAUYE = 2,00 B

B IT 53 -

IES:III ME - 40
cie: Y M - i
IES:

CIE:

Max At80:145. Bed/klm
Max AtS0:10.04dcd/klm
Max B0=90:145_8cd/klm

HEB 5101:Mon limited[46.3%]
IR (N E M)
FER od
Imax=100% 6024
—  G0% 5422

BO% 4819

—  TO% 4217

60% 3614
—  s50% Jo1z
40% z410
30% 1807
20w 1205
10% 602
5% 301

Page 14




Streetlamp-120W
B&4T120W

(32'; Lhe

WAk 4 Testing Report No.2

%ll“m METANARE B a —— 10% 603.8
101 5 —— 203 1207
BARM..... ’ =25
20 = ) —— 50% 3017
5.0° 54 60% 3820
W=TF = =
15.0" 1 i y/-n.\l B0% 5430
7 20.0° o 10 it o | |
— (RN
&0 o =il |
i : ] "/\ <%’
>
® ||
10
y
" 7
2 \
%
-
10 i
\‘ LY 34 (H43.0,V-32.5)
" ]‘ 4 —80 30.0, Camma=S2.0)
2 1 0 1 2 ' -90 =
-90 -B0 -70 -60 -50 -30 -30 -20 -10 0 10 20 30 &0 S0 &0 70 80 90
B Kt RMERK & F 1 oes
ISP e B0 A 2 B A R 2 WS bnft Le/TOO1I-20048
WAECEEHEE 10 =, T S B 0 B U = Eminf/Eawvg = 0.T23
FT e A T T W BE, W A T - Eavg — 27.41 1
1 E " - % rer gt
Z'i? - VMY £ R v BE T S
= C L 5 m 4_000
il = | i\ & 2.778
— m -
- 2 f'_\;—n. 7 m 2.041
1 S
= B e A -m 1.563
2 [ e S g 9 m 1.z3s
= e — 10 m 1._000
3 . 11t m 0o.826
g F 12 m 0.694
. = S P P PSS SIS P T S PP PP PRI, e s
£ 1 B 0 LB 14 m 0.510
— 17 13 — i1 a.7 — E.5 15 m . add
- S— 1.5 — Q.65 S— D.22 0.11
16 m 0.381
¥ o0 ca5 c90 C135 C180 c225 c270 C315 ¥i®) oFF -3 x
5 2127 2147 2180 2162 2158 2127 2125 2122 51.1%9 51.15 b 45.0.49
10 2165 2181 2269 2154 2127 2123 2154 2144 153.9 20%.1 fL.96.1.95
15 2235 2250 2403 2160 2120 2161 2182 22189 259.8 465.0 [i.ad,4.44
20 2355 2450 2513 2259 2181 2198 2146 2334 372.3 §37.3 [7.99,7.99
25 2523 2614 2584 2412 2296 2228 2048 2463 490.9 1328 h2.7,12.7
30 2736 2829 2637 2618 2442 2233 1857 2642 517.0 1945 |18.6,18.8
35 3033 3113 2706 2870 2630 2221 1558 2875 7s51.8 2657 Ps5.8,25.8
40 3367 3615 ZEI BSS 2868 15Q 1067 2931 a893.3 3590 Bd.3,34.3
45 3685 4456 2701 3778 3154 1411 708.2 | 2541 | 1038 4829  [4.2,44.2
50 3304 3089 1227 4810 3496 B43.6 563.4 1603 1124 5753 [B4.5.84.%
55 4145 630.5 610.4 5382 3780 577.8 w482 B838.0 1074 6827 5.2,65.2
&0 4381 440.6 469.3 5804 4039 480.7 316.2 511.1 1020 7847 4.5.74.0
65 4205 232.4 312.3 331.8 226.3 222.5 8375 g78s 3
70 2161 182.5 228.6 1560 4580 157.0 135.0 128.3 755.8 [T 1.5,91.58
75 116.2 104.5 147.7 233.1 4263 128.5 94.23 77.09 498.2 10079 Pp6.2,06.2
(-5 ] &1.28 T1.58 114.8 114.1 1257 B4.097 TO.91 &1 . 79 262.3 10341 B.7,98.7
85 14.70 26,78 53,60 69,13 113.1 41,02 32,53 10.62 53.232 10394
90 8.119 3.212 14.58 30.66 53.56 9.486 0.6827 4.950 20.33 10415 [55.4,89.4
95 9.557 1.040 1.410 5.668 10.14 1.555 0.8702 6. 969 90— 95 5.696 10420 [99.5,99.5
100 | 11.80 | 1.303 0.7832 3.752 8.568 2.514 1.192 B.TBS 95-100 | 2.495 10823 [p9.5,95.5
105 12,53 1.830 1,063 100-108 | 2,933 10426 [99.5,83.5
110 13.97 2.647 1.2394 6.116 11.96 6.720 3.206 11.7% | 105-110 3.499 10425 [B9.6,99.6
115 14.90 3.668 2.022 7.337 12.69 &.858 4.925 12.67 | 110-115 5.990 10433 [p9.6,99.6
120 15.58 4.792 2.761 B.415 14.05 10.37 | 6.858 13.64 | 115-120 4.369 10438 [p9.7,08.7
125 15.90 3.602 9.489 14,77 11,36 8.200 14.49 | 120-125% 4,622 10442 [99,7,95.7
130 18.62 6.8986 4.743 10.08 15.33 12.26 9. 695 13.08 | 125-130 %.704 10447 [5.7,98.7
135 14.63 7.774 6.185 10.05 15.38 12.71 11.15 15.10 | 130-135 4.587 10452 [99.8,99.8
140 13.72 8.583 =291 3. T4d6 14.93 12.92 12.41 14.68 135-140 4 .308 10456 B9.6B,93.8
145 13.02 9,412 8.174 | 9.801 14,27 12.57 13,03 14.18 140-14% 2,917 LO4ED $.9,05.0
150 12.65 10.10 9.189 9.850 13.75 12.52 13.17 13.89 | 145-150 3.486 10463 [5.5,99.8
155 12.41 10.66 9.820 10.60 13.52 13.23 13.21 13.58 | 150-155 | 3.042 10466 [99.9,09.9
160 12,32 11.14 10,32 11.24 13.36 13,52 13,48 13.10 | 155-160 | 2.564 10463 | 100,100
1658 12.32 A1.58 11.01 11.67 12,185 12.18 13.42 12.83 160 2,037 _A04TY 400, A00
170 12.46 11.91 11.68 11.58 13.04 12.83 13.23 12.78 | 165-170 1.478 10472 100, 100
175 12.76 12.30 12.29 12.36 13.04 12.61 12.90 12.69 | 170-175 | 0.8579 10473 100, 100
Zﬁu 12.87 12,42 12,52 | 12.48 | 80 12,42 12,54 12.51 | 175-180 | 0.3008 10474 100, 100
i od I

Page 15




(5; Che

Streetlamp-120W

#RT120w www.starlight-led.com
B 4T %2 3%~ B EInstallation Instruction to Telegraph Pole

Pole Dimesion 60mm

V&DI

e

se the wrench to tighten the screw nuf The plastic cover should be
o covered on the top
S
Z i Cad o L '

Fix the Cover
Installation finished

Page 16




